Quiz 15
MATH 2300-001
December 9, 2008

1. Find the area inside the rose r = cos((2n + 1)8).
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2. Find the total length of the spiral r = e™?, 0<6 < 0.
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3. Find all values of # where r = € has a vertical or horizontal tangent line.

dy €’sinf + e cosd _ tanf+1

dr ~ ePcosl —efsinf  tanf — 1

Horizontal: 0 = ‘%T + 7k Vertical: 0 = § + 7k.



HOW CAN THIS BE TRUE ?

Below the four

parts are

moved around

The partitions

are axactly the

same, as those

vsed above

Z From whera comes this "hola™ ?

The first figure is not a triangle: The "slopes” of the two triangles are not the
same. S0, they only way this should seem wrong is if you incorrectly assume
the first figure is a triangle.

|
0

BINARY
SU DOkV

Do you need a solution, seriously?



